BREMPRETFHIE (FRMES) mik THTE 8A 2B (d)
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=LNCA 45.4 JtiEE 43.4 1,620 648 648 10| M2 LL
EWZA T & 1.2 - 1,512 — 0] A
IZALA 33.4 i 25.6 864 — 756 10 yay M
IZALA 5 & 7.2 — 1,296 — 10 vay M
E) 13.5 BRE 13.4 1,836 — 1,728 0] A M
<& 36.2 & % 36.1 864 — 486 150 A 6
HTHE 1.5 BRE 0.9 1,944 1,512 1512 4f A M
ZEDOH 8.2 12 [H 3.2 1,296 864 864 4f A L
TRy 89.2 B E 79.2 1,415 972 918 10 vay 8
TRy X 9 8.3 540 216 216 10l %39 8
IE5NAZES 1.2 = I 0.1 — 238 — 0.2 A L
hE 6.8 X & 4.6 459 — 432 3 vay LL
hE 15 kB 0.7 2,268 — 1,944 3 L
125 26 = I 1.4 4,320 4,320 4,050 5 iy
L) — 1.3
T RINSGHR 15 EES 0.9 — 92 — 0.1 a9 M
LARX 26.0 & % 255 1512 1,404 1,350 0] A LL
LARX TMET 0.3 2,268 2,160 2,052 4f A L
FUF YA 1.0 BRE 0.6 1,728 1,728 1,512 4f A L
=Y 22.8 ERE 0.6 — 270 - 1 A
NESSED 13.8 JtiEE 12.0 4,320 2916 2,808 10| vay 5
7y 10.6 BRE 1.9 - - — PR
B ElG 4.0 2,160 - 2,052 5] A LL
k< 24.2 X & 11.7 1512 1,404 1,296 4 B 20
ed N 8.6 — 1,296 - 4] 19 LL
=S 6.2 EES 35 194 173 162 0.2 a1y M
= x 9 1.4 2,592 1,620 1,620 3l A L
E—<> 5.9 EES 2.1 1,836 — 1,728 45 a9 LL
E—<> X n 1.8 93 — 86 0.15 A M
E5HACL 5.4 JtiEE 4.4 3,240 2,160 2,160 8 L
V) 1.9 BRE 1.9 86 - 73 0.1 A M
[2A5Y 7.2 BERE 6.9 1,512 756 756 3] A M
SPVWAITFA 0.2 JtiEE 6,480 — 5,940 2 L
MhALE 6.4 X 3.0 2,538 2,268 2,160 5 L
MALE B K 2,538 1,944 1,944 5 M
[EhiLs 49.0 £ 5 12.1 - 324 - 10
<AL 0.5 BERE 0.4 7,560 7,020 5,940 5 A
HHLE 2.6 JtiEE 1.8 5,940 — 5,724 10 A 4L
=Eh&E 60.7 i B 46.7 3,240 2,700 2,484 20 Va9 L
=FEh&E = B 1,620 1,566 1,080 10 va9 L
f=FhE " & 13.2 3,456 — 3,240 20 L
A1z 1.6 h EH 1.4 5,400 4212 4212 10 4L
ELLV=T 1.8 BERE 0.1 - 108 - 0.1 L
ELLV=T =0 1.2 86 — 76 0.1 A M
ZDELET 47 K B 2.9 32 24 24 0.1 A
LHL 1.8 12 [ 1.8 97 65 59 0.2
FPRIRET 511.8
e

o & B & E i = & & =z B £ B

m B RO

(t) ATE®) (M) (M) (F) (kg)

RN A MAET 18.2
INDRHBA 18.2 ERE 25 4,320 3,780 3,240 5 A L
INDRH A BERE 5,940 5,400 5,076 5 A M
INDRH A BERE 6,480 5,400 5,076 5/ A S
INGRH DA kB 14.2 2,160 - 1,998 5 L
IND RH DA kB 2,700 2,700 1,620 5 M
INDRHB DA & B 2,700 — 2,106 5 S
LEY 25 F 1) 0.3 7,020 — 6,480 17 165
INLUDT 46 = il 46 - 3,780 — 17
JLF)Ly 0.5 m77Y 0.5 - 4,536 — 15 50
YAZE 32.6
233 3ILK 22.5 5 22.5 - 5,616 - 10] M
AL 6.0 5 # 6.0 7,776 7,344 6,912 10 40
HARLLET 13.2
E 7.9 BB X 7.9 4,320 — 3,096 10{ 7hv2 40
2K 3.7 = B 2.1 5,400 - 3,780 5| 7hva 14
—tHEe 1.7 BB K 1.7 7,560 - 7,020 10| 7hva 32
3HET 3.0
3% 2.8 £ ¥ 1.5 4860 - 2,700 5/ vay 25
ROR 0.1 & % 0.1 540 - 486 04] Y1y 4
FTHLE 0.4
ERG 0.3 I 0.3 594 - 540 05 vay 10
JIL—> 0.1 £ % 0.1 454 - 432 04] Y1y LL
SAESE 7.4
T29z7F 0.2 =I5 0.1 - - — PR LL
T29x7F =l - 2419 - 16/ B L
T29x7F =l - - - PR M
= 4.4 2 @ 3.6 2,376 2376 2.160 14| B 3L
EA—=* 0.6 12 [ 0.2 2,506 2,506 2,376 1.4 A 3L
NIJ—A 0.1 12 [ 0.1 - 1,944 - 2 A 3L
A0 &t 9.2
7—ILR 2.1 EES 1.8 3,780 — 3,456 8| 742 LL
ZDHAOY 7.1 T & 6.5 3,780 — 3,024 8l vay LL
FUVAEL 34.1
ELAY) 28.7 BERE 20.9 756 756 648 6] A M
ELAY) A 1.1 5,400 - 5,184 16] A 3L
CEETLH 54 BRE 54 2,700 2,376 2,160 10 A LL
INFF 16.1 EUEY 16.0 4,320 2,948 2,808 15
IMFyTIL 6.0 EUEY 5.7 3,672 2916 2916 10 8
FoA4T)LY 6.1 ol B 6.1 4,860 4212 4212 5.8 27
RERE 154.9




